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PASIMPEAOEJNIEHUE ETAX 8, KOTA +20,60

CAMOCTOATENHU OBEKTU NnoLy BE3 OBLUU YACTWU, kB.Mm.
AnapTtameHT 37 55,98

AnapTtameHT 38 106,83

AnapTtameHT 39 86,82

/
7 7/
7 7
e/
e/
/
/
e/
7 7/
VY
7 7
Y&/
7/ \
i 2 \
¢ °4 | \
e/ b \
Ve | B
7 7 * s N j | N 1
//// : ‘ b i
/7 o e /\2 2,31 ‘ S
//// N ﬂaualxyxunhpanesapwﬂ : | I
= 26,51 m? I
// | \:/ | S
/, (R | 1
/ ° Iif booa e
y / k| I
e —_— T : S|
L "’<\\‘| ‘E N ‘ ‘
— L] | * L/l Y
o __ AN 5 1
aHTpe : \
| 41 m? 1
(AN N O
| - cnanHs ‘ . ; \
7 = T T I 9,10 m? I Ll
ey \I 1 s 1
/i 11 _4/+20,60=+598,10 ﬂ H 'l
/] [ : | :
/1
g S | 1 |
/ LR, 0 | H
/// i ,_," o0'Q - ’7 | ‘
/, Py S o6Lm YacTu i h
WK kyxH. 60 s 39,81 m? LN | I ‘
ddaiad 2 N |
D 4,68 m L |
* ‘ \
_ [
- = cnanHs 1
/ 10,83 m? : | :
/| : : ‘
I \
[
[[ ] | |
[
‘ \
\:/AueJual'rpanesapu : knan | : ‘
24,71 m? 65 m? — 1
J |
/ Bl
/ ‘ g
/ 1
! ! ol
7k [AN. 37 i
y/ / g
||
—_— ‘ DE A
EijEs ||
* ry a al
cknag 5 CCb ) Il
163 m? aHTpe A L
5 4,11 m? \ ;
[
< LA/ . T )
y VI I |
/ —————— \ / \ / : H
/ Kopuaop | i
/ 5,38 m? | 'l
/ cnanHs HeBHa/KyxHs/Tpane3apu 1
/ 17,88 m? = 18,34 m? ; 1
1 _ 'l
L Hl
cnanHs 1 |
13,67 m? — | = |
cnanHs s
11,22 m? |l
| S— —— ‘
______ H = =
o
i
Tep |
3,92 m? !
| — ' | ;




PA3IMNPEOENNIEHUE TABAHCKU ETAX, KOTA +23,45

MNnoLl BE3 OBLLUU YACTMW, kB.Mm.

CAMOCTOATENHU OBEKTU
AnapTtameHT 40 60,36
AnapTtameHT 41 93,03
AnapTameHT 42 100,93

5 L

26,54 m?

a /

-
[
i
Tll-- 1a/KyxHs/Tpanesapus
L

[

/ OO0
aulr
*
aHTpe
2
r— 41 m
\
‘ T T 1
| N |
| (N +28,45=+600,95 ‘
(B |
| |
= |
L R,0
ks - pl =/
T yxn, 60 S o6wm uac;m m |
7 : 39,81 LN
I P crm
L ‘
L] — |
. * If
cnanHs ‘ F If
p / 10,87 m? I
g MM |
|
Y/ / [HEéBHalTpanesa Knag
Y/ . / \:/ \:? 23,19 m? 65 m? o If
Y/ / Il
y/ 4 J/
,,'/ /
/ I / Wty I
// - / 0Xm |
/ ﬂl [AN. 40 ¢ |
Il —
// | I ‘ D j
= @ ¥
. 6ats, [ anTpe II‘:
] 2
/ 2 - ™
' / I ’E ) a T I
/ RZATAIRI L | !
‘! / e [ > i/
\‘ 7 Kopuaop AHeBHa/KyxHsa/Tpane3apus it
| / 5,38 m? 1843m? |
I | cnanns |
I /1877 m? 3 | |
// i ‘ L M It
/ ’,J Ll |
B I
cnanus | =
{ ———— —1367m2 — =5
cnanHs
11,22 m?
————— =
|
\
[
|
[
— \
************ -!:::::::::::r‘

0 1 M. 2 m.
=




